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BACHELOR OF SCIENCE (B.Sc.) 
Term-End Examination 

CI 1. 	1. 	December, 2017 

CHEMISTRY 

CHE-06 : ORGANIC REACTION MECHANISM 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions carry 
equal marks. 

1. (a) What are nucleophiles ? Arrange the 
following in increasing order of 
nucleophilicity : 

H2O, -OH, -OR 

(b) What is meant by Isotopic labelling ? What 
is its application in organic chemistry ? 	4 

(c) Which of the following nucleophiles would 
undergo SN2 reaction faster and why ? 

HO-  or F- 	 3 

2. (a) Predict the product and give mechanism of 
reaction of cyclohexene with bromine in 
presence of CC14. 4 

(b) Complete and give the mechanism of the 
following reaction : 	 4 

(CH3)3  C - Cl + H2O 

(c) Write the products formed during the 
addition of HC1 to 1,3-butadiene. 	 2 
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3. (a) What are thermodynamically controlled and 
kinetically controlled reactions ? Discuss with 
examples. 4 

(b) Why does acetaldehyde undergo alddl 
condensation whereas benzaldehyde does 
not ? 

(c) How are cis and trans alkenes obtained from 
alkynes ? 	 3 

4. (a) Explain 1-Rickel's rule. Which of the 
following are aromatic substances according 
to this rule ? Explain. 5 

+ 

(b) Arrange the following free radicals in the 
decreasing order of stability. Justify your 
answer. 3 

CH 

(c) Calculate the oxidation state of carbon 
atoms in CH3CHO. 	 2 

5. (a) What is ozonolysis ? Predict the products of 
reductive ozonolysis of 	 4 

H
3
C

NC-C7 
CH

3 
H 	N CH3 

(b) Starting from malonic ester how will you 
prepare butanoic acid ? 	 4 
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(c) Give one example each of an analgesic and 
an antacid. 

(a) Write Saytzeff's rule. Write the major and 
minor products formed in the following 
reaction : 
	 4 

Br 
C2HSO - 

CH3  - CH - CH2CH3 	 ? 

(b) Complete any four of the following reactions : 4 

(i) 

  

CHO 

 

NH2OH ? 
H+  

CH3  

(iii) CH3  - C 	HCI CH2OH 	? 

CH3 

H20 / H+  
(iv) CH3COCH3  + CH3CH2MgBr 	? 

(v) CH3CHO NaOH  

(c) Explain Norrish-I reaction with the help of 
an example. 	 2 

CHE-06 	 3 	 P.T.O. 



7. (a) Why is photochemical (2 + 2) cycloaddition 
symmetry allowed ? 
	

4 

(b) Why are soaps not effective cleansers when 
used with hard water ? 
	

3 

(c) How are hemiacetals and acetals prepared 
from an aldehyde ? 	 3 

8. Write short notes on any two of the following : 2x5.10 

(a) Aldol Condensation 

(b) Cannizzaro Reaction 

(c) Pinacol-Pinacolone Rearrangement 

(d) Baeyer-Villiger Oxidation 
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